novotechnik

Siedle Group

NOVOHALL
A—%21)—t>Hy—
FEFEAG
NE—F1—FT1—
RSX-7900
4..20mA

SES
LT @ @

< J\— RIEERIBI SRS RTRE S BREE A
% 7 MEIE300N

- JEREfE. BES

+360° ECOAEAE YV IINVEXUORIVFF vzl

B I NTE B RIS L 7 IV Z T A
NTIVITBELORAT Y LA v 7 b, 1EKEE
BNV ZT T o

< PEREE 126w F(4..20mA). 14 v +(CAN OPEN)

« SRR | SRR | C [28R AT BE

« B ULBAZKE IP6KIK

- THER M -40..485° C (4..20mA) ,-40..+105° C (CAN OPEN)
IREND B DIBFRICE Y {41 THVEREU DRSS
cBEDEMCEHEET-TBICISO/INIVRGEEDFSH T4 —IL K
ISO 114528 K UECEES

CERRIERTADIGELTVET,

RE&E 7 7 1) r—3/ 3 /IS0 13849(4..20mA)

ok

VN =D

RTT VI VTY AT LOMERIE
cERY FRERD/INT VR

- DR DB X T s
CERP LUB M

AELVTRX-79001F, BMHERERG T COERNAIVZ T 5 —2 3 VAFICRGTEN, EHRNGIRIENRIEE T,
“EBRINRT YV IRAT YV LARF IV v 7 b BN —LAVET ML TEEELGRENORBEH TELT,
ERECEREORWV Y AT LT, BRAERNEDAEEE. HIcRetDR TN THYEEY T r— 3 VITRIIBEY,
NT A =R VRAEKFETH YD 5. AVNT FEREFHC KV BMOM#EREEZHE LG TEE Y ZERRYMIFE T LN
TEFT, fee MEAGY v T MN=Ia3VETHAELTVET,

LIN=T7 —LEIBBOFHEREZN LT —2ZERNT DI EHTEXT,

B
[z NODV Y BT IV =T L. AIMgSil. EBKER
v 7 b A7 L REH X10CrNiS18-9 1.4305
A With 4 screws M6, screw-in depth 15 mm min.
it LY 800 % 100 Ncm
Pz Double angular ball bearing
BB M12x1, Ad— RO X7 Z{FE 4x 0.5 mm” (AWG 20), TPE, / > —IL =T 1L
B
A SEARBER
AN 360° &
SR E 300 N (75 M)/ A )
B E f 3B
§1%74 <4Ncm
RIERE LRIERRBISCT. ¥+ 7 NOWEIEMEICHAEGAMMBINT Bi5a0H) £
B8 #5009




Centering shaft side
RSX-791 _-. -

@79

®58 863
L1 ki

©)
®

Centering shaft and cover side
RSX-794 _- - -

5,
e
é &~
11
12

$10 043

novotechnik

Siedle Group

AKX

CADT—Zl&. UTFDURLHSESGTEE T,
www.novotechnik.de/en/download/cad-
RSX-79.3- _ - _ - __ data/

Countersink

-0,016
4,5 x 90°

)
E
o 1 S
33 =
39 E
-
o
+hr-@
RSX795-__ - _ - __ RSXT97__ . _ - __
g
gradi B "’l

max. 25,5|

+0,036
@6+

+0078
5 40030

RSX-79_ _-__ _-___- 2__ RSX-79_ _-_ __- P
B
] Channel 2 Channel 1
2
o
2 §
o
£
3
°
€
225
RSX-79_ _-_ _ _-___- 5.1 RSX-79_ _-__ - - __61
Channel 2 Channel 1

¥ v 7 FOFHEHEIY H LIRIC
BNTWBIHEE. tVT—I3ESR
HFROMIBDEL Ich Y &Y,



novotechnik

Siedle Group

BITUEAR

RSX-7900
4..20mA Iﬁ»

BT -k B Ub / A9-T1-2

3: Ub = 12/24 V (9 ... 34 V)
HRREKFTRHBUTVET
HHES
2:4mA..20mA
ERIISUTHOES HENES

HAFIE

1: BEHED CWICER

2: BFEHEID CCWICES

3: —EIE : JOAHAFrRIV1OEIM/ FrRIL 20D CW
4: BRTER : JOAHEDFrRIVLOEN/ FrR)L 20D CW
ERITSCLZOMORFIE

BREIESG

SYVINFrIRI [ —EBTTR: 1A

252: 1 x =70 488, 2 m, BL

551: 1 x ARJ4 M12 4-E>. RL

FTETUR: 247

352: 2 x —7J)b 488, 2 m, BL

651: 2 x RJ49— M12, 4E>, BU

ERITEC T I=TWON-S3VEBHILTENEIRIS

REBSERE — AR NSRS — REHESHECE — ESHEZ2N I — ESHESH B2

) IR

SV-R 06:  60°

12: 1200

18: 180°

24:  240°

30:  300°

36:  360°
ERIOGUTHOAE

VIRIER

t IVINFroRI (1 x Ub, 1 x Hi77)
1 —EBTTER (1 x Ub, 2 x iH7)

1 BRTTER (2 x Ub, 2 x iH7)

}
6
7
8

PPN

1: @ 13x12 mm J0AK=)13E @ 4,1 mm

3: @ 10x16 mm HIYYH—->2I{3E @ 4.5x90°
7: @ 13x12 mm BT —h Z-IPX-M214+
ERCBOTEOS Y I N -T3>

NS>

1: EYHUS ) EE

4: AU EEEN) B R

TN/ H4X
79: 79 x 35 mm




novotechnik

Siedle Group

Hitir—%

RSX-7900
4..20 mA Iﬁ»

247 RSX-79_ - _ -32.-
HHES 4..20mA
& <250 Q
F v RIVE 1/2
BEHL— b 5 kHz
RIREE 60° ,120° ,180° ,240° ,300° ,360°
et —7 U7« IHRHEE < 90° : £2 %FS, ARHEERE > 90° : £1 %FS
[Ex e BIREEE < 90° : £4 %FS, AR > 90° : =2 %FS
TIEERE 12 bits
‘BUIRLEE <+02°
EXFI)TR typ. < £0.1°
360° DF:typ.<0.25° (BLEICKIEL X T )Y ARIGRTHE)

BEIS— JAIREEF < 90° :200 ppm/K, AHREIFE > 90° : 160 ppm/K
HIGEE Ub 12/24VDC (9 ... 34 VDQ)
SHEER w/o load typ.20mA / F ¥ XU (Ub =24 V)
MME(RTE HY (BRZAY)
FRRIRE &Y (TRXTOHEANGNDE BREEUD)
#@f53EH (500 VDQ) >10MQ
ERBRE
RAEARE 50 rpm
#&EN IEC 60068-2-6 2049, 5..2000 Hz, Amax = 0.75 mm
&% IEC 60068-2-27 509,6ms
{R& 2 = X 150 20653 IP67 / IP6KIK (M120% % 2:1P67)
EREE -40..4+85° C

B > 100 Mio. movements
[ PERICK D&%, 150 13849ICE DK RLBET T r— 3 VITBLTVWET,

E5RZREMT—42 (DCavg..) EMEEREDYR— I, VIV IXMIECTREINE S,

MTTF (IEC 60050) 461 F (Frv v RIVTE)
MTTFd 923 F (FvrRIVTE)

(EN1SO 13849-1 Ao > b A, FEHEL)

MTTF certificate s. https://www.novotechnik.de/en/downloads/certificates/mttfd-certificates/

EMC#E&HE
1SO 10605 ESD (Handling/Component) 8KkV/15kV
1SO 11452-2 Radiated HF-fields 100 V/m
ISO 11452-5 Radiated HF-Fields, stripline 200 V/m
CISPR 25 Radiated emission Level 5
1SO 7637-2 Pulses on supply lines (1,2a,2b, 33, 3b,4,5) Level 4
1SO 7637-3 Pulses on output lines Level 4
Emission/immunity E1 acc. to ECE-R10
BRIV ST
&= x5 =7 e =2 xAART 2 &=

code 5_ _ code2__ code5__ code2__ code 6_ _ code3__

Fr I Fv I —ER —ETR RETTR TER
HHFEEE Ub 1 Pin1 GN (%) Pin 1 GN (%) Fv>xI1/Pin1 F %L1/ GN (%)
GND 1 Pin3 BN (%) Pin3 BN (%%) F¥>xJ1/Pin3 F > xJU1 /BN (X)
ESH1 Pin2 WH (B) Pin 2 WH (B) F¥>xI)1/Pin2 Fv I/ WH(B)
E5HA2 Kigf KiER Pin4 YE (&) FrRIV2/Pind  FrrRIL2/YEE
HHEEE Ub 2 = = = = F¥>xI2/Pin1 F v > xJL2/GN ()
GND 2 - - - - Fv>xV2/Pin3 F+ > *JV2 /BN (F)

Pin assignment M12
4-pole, A-coded

4 3




1F v RIVEATCW

1F v R IVEATCCW

novotechnik

Siedle Group

ity 7 —%
HRE

RSX-7900
4..20 mA

b,

signal Messwinkel/ messuring range S
2= 360" - measuring range
ar o
i
ite B0 el
center angle W OW

Signal
Messwinkel / measuring range 2= 260° - Messwinkel
2= 360" - measuring range
max.
an
a
min
o Wite 360" Winkel

——cw

center

angle

2F v U RIVEA T YAAEA. F v U RIVIHCW

2F ¥ U RIVEA T

Fv U RIV2=05XF v &)V

soa f Messwinkel / measuring range 2= 360" - Messwinkel signal Messwinkel/ measuring range 2=360° - Messwinkel
2= 360° - measuring range a=360° - measuring range
max. max
s
N ignal 1 \
N an
o e
a2 N Signal 1
al2
AN "
,/A\ =
—ve R
min, [ L— -
oo e o - oo 0 e ——ow
[H X% LAERR] BREITIER [HR% LERR] DEZEL
On request: trapezoid output characteristic On request: different gradients
Signal Signal
me max.
i -
in.
0
0 max. - g
-—

[ARZ LR 2F v U RIVELAT ATy bR

[HRRLATHR] BARR B

signal

On request: output characteristics with offset

On request: parabolic output characteristic

Signal




novotechnik

Siedle Group

AR
CANopen

RSX-7900
CANopen IM.

B -tk {259-T1-2

6: CAN open
HRREAFTHUCVET A= TT= 25—

1: 1x i, 1xEE

2: 2x fU@E, 2x&EE

5 1x fi[iE. 1xRE #imETT120W
6: 2x fiIE, 2xRE KimiKH120W

R=L—k
: 1000 kBaud
: 800 kBaud
: 500 kBaud
: 250 kBaud
: 125 kBaud
: 50 kBaud
BREES
1 Hh
201: 1 x ¥=2J)b 488, 1.0 m, =LK
551: 1 x 94 M12 5E>, ¥—JLKR
2 HH73(CAN IN/OUT)
301: 2 x =T 488, 1.0m. ¥—JLR
611: 2 x ARIH— M12(#R) . 5E>, =LK

NULWNE

R s X -7 911 -2 14 -6 2 4 -6 11

SW-X

SvIh

1: @ 13x12 mm J0AK=)13E @ 4,1 mm

3: @ 10x16 mm HIUXH—S2I{3E @ 4.5x90°
7: @ 13x12 mm B4 -k Z-IPX-M21f¢
ERICBLTBOS YT -T3>

%)

1: BYHUS IS

4: €AV BEEEN) - R

I/ HA4X
79: 79 x 35 mm




novotechnik

Siedle Group

Hitr—%

CANopen

RSX-7900
CANopen

CANopen
Qi

2147 RSX-79__-214.6_ - __

AIEEH fIE. EE

RIR#EEE 360°

F v RV 1/2

A= =V CANopenZ0 k3L GADS-301V4.20, 7/\( X707 74 )UDS-406 V32T O—4 % 5 RC2, LSSH—E X CiA DS-305 V1.1.2
TOYT 5 LAIREGINT A =2 IE. RE. Hi. (EEEE. BEAm. R —ib. #7€v b /—FID. R—L—+
/—FID 1..127 (1Z2#127)

R—L—+t 50... 1000 kBaud

FHL—k 1 kHz

{IE S fREE (360° ) 14 bits

RERE 360° /2A14=0.022° /ms

=7 UT o 1 Channel: £0.5 %FS, 2 Channels: £0.85 %FS
BYRUBE <1036°

EXTFI)IVR < +0.36°

BEIS— +0.2 %FS

HIAEE Ub 12/24VDC (8 ... 34 VDC)

HEER (RERE) <100 mA

BEERE 45VDC (k)

RIEIREE by (BRZ1Y)

AR IRE &Y (HFIRGNDH &L URRA40 VDCORIREE)
#EgiR (500 VDO) >10MQ

#rE 0.5 mm? (AWG 20)

PRIER/\ R & 120Q (F 7> aY)

fERRE

RAERRE 50 rpm

&2 IEC 60068-2-6 2049, 5..2000 Hz, Amax = 0.75 mm

&% IEC 60068-2-27 50g,6ms

1R&2 5 X 150 20653

IP67 / IP6K9K (connector M12: IP67)

EREE -40...+105° C
i > 100 Mio. movements
HRERe LUHORREREEEY X T LTERT 2RICH R— FHAREEBEIE. BELEDEZEWL
MTTF (IEC 60050) 413 years (one-channel) or 303 years (two-channel, per channel)
EMCEEH
1SO 10605 ESD (Handling/Component) 8kV
1SO 11452-2 Radiated HF-fields 100 V/m
ISO 11452-5 Radiated HF-Fields, stripline 200 V/m
CISPR 25 Radiated emission Level 4
1SO 7637-2 Pulses on supply lines (1,2a,2b, 33, 3b, 4, 5) Level 3
I1SO 7637-2 Transient Emissions Level 3
1SO 7637-3 Pulses on output lines Level 4

EN 13309 Construction machinery
Emission/immunity E1

acc. to ECE-R10

EIVERS

&5 aART 42 7=
code5__/6_ _ code2__/3__

HAEE Ub Pin 2 BN (%)

GND Pin3 WH (B)

CAN_H Pin4 GN (k%)

CAN_L Pin 5 YE (&)

CAN_SHLD Pin 1 =V F

=710 —)V FEGNDICERELE T

Pin assignment M12
5-pole, A-coded




10

m8 @13
1
—— TiT
.- -O- -O —
0eoeo D
3x15=45 90 20
165
o M5
I . I
+0,12
e e
| - - -
& 30
(165) 20
185
+0.027
P13 4,8 =005
o w0
|
- ; S T 8
N
L
3
0,078
51005
H 12,8
6,3
ol
I
© ol
= Il
by I
i
I

novotechnik

Siedle Group

772t

Z-IPX-MO1

ERY Ay FEREAL/N—T7—
<% 7 kD =13 mmIcHEW fHF
OvoEYERY (FR)

15165 x 20 mm

ZE] PRBEL T IVE =D L
P/N 217

400105430 Z-IPX-MOT1

Z-IPX-M11

ERY by FEREIRL/N—T—
<4 7 kD =20 mmITELY 5
OvoEYEXY (AR)

15185 x20 mm

& PABEIL 7 IVE 20 s
P/N 247

400105431 Z-IPX-M11

Z-IPX-M21

BE 7L —rD=55mm. Qv+ I AIED
STIIVYY TN RSATHA,
v 7 FD=13mmICBEEE > (FHR) TERYHF

[z PR L7 IV = I
P/N 247

400105433 Z-IPX-M21

Z-IPX-M31

X V7DM100 mm|THFHEBAEEE Y (S AD
WU TL— k.
TEVTIME Gx> U E—~y FxY) Bl

ZED PRBEL 7 IVE =D L
P/N 217
400105432 Z-IPX-M31




novotechnik

Siedle Group

AT RV AT I
M12

RSX-7900
4..20mA Iﬁ»

EEM-33-35/36/37

0145
3 b len @ M12x1 X23%% %, 4-pin,
M O O 2=WH (B) Z Rk L— b, Ad— K, —f£8
- 3=BU (& . . T
o o 1-BK (@ ;:};1;; IP67,Z';;7°/I/ K
= 2 1 7
—7)b—2Z  PUR,@=max.6 mm,
& -40 ... +85° C (BlE)
= — R PP,0.34 mm?
P/N BAT BE
IP67 || UL g
200056135 EEM-3335 2m
J 400056136 EEM-33-36  5m
400056137 EEM-33-37  10m
0145
pom . EEM-33-38/39/40
- 3 ToEN G M12x1 % 2% 4, 4-pin,
—— o © 2w 5 7YY, AT— K,
= B ~ ) -~ ~ N
=[f o 4-BK (B) 7-)|1|‘#£,|P67,7J'—7°/I/ R
= 5 f TISUHE  PA
= . 7—7)b¥—2Z  PUR,@=max.6 mm,
St & e -40 .. +85° C (Bl
- 3 = ) — R PP,0.34 mm?
L] wor |[ v |[ @ PN 517 BT
- 200056138 EEM-3338  2m
}~ - - 400056139 EEM-33-39  5m
B8 400056140 EEM-33-40  10m
= . EEM-33-89
M12x1 AR %Y &, 4-pin,
o TYOI AT~ K, By FU Ty M,
o 241 12—, P67, ¥ — )b KFRA]
§ 2 y ERRE. -25..490° C
§ TS5 UME PBT
TA Y4 —JF  6..8mm, max.0.75 mm?
P/N 517
] v 400005634 EEM-33-89
PG 9
017




0145
M2x1
"

(354

608

1= Shield (¥—ILR)
o © 2=RD (0,34 mm?) ()
3=BK (0,34 mm?) (&)
4 =WH (0,256 mm?) (8)
5=BU (0,25 mm?) (&)

o @]

3

<
©
<

14,5
PM12x1
|

31

SwW13

i

ww gL MS

)

novotechnik

Siedle Group

AT RV AT I
M12

CANopen

RSX-7900
CANopen IM.

EEM-33-41/42/43

M12x1 X244, 5-pin,

L=, AT— R, —fE

IP67, & —)b K4, A — 7~ T K, CAN-Bus

JSUME  PUR

4r—7)—Z PUR@=7.2mm,
-25..+85° C(E®)

J—Fig PP, 2x0.25 mm?+2x0.34 mm?
P/N BT rE
400056141 EEM-33-41 2m
400056142 EEM-33-42 5m
400056143 EEM-33-43 10m

EEM-33-44

M12x1 A R/A R Q%7 4, 5-pin,

Z kL= b, AT K, — R

1P68, CAN-Bus

JSUHE  PUR

—7IV¥—Z PUR @=72mm,
-25..+85° C (EE)

P/N 2147 RE

400056144 EEM-33-44  5m

EEM-33-73

M12x1 X R x% 42, 5-pin,

A=K AD=F, Ay TUVTFy M
faLixF, IP67, >—IL K],

CAN bus

TS5 Metal,-40 ... +85° C
JAY45—YB 6..8mm, max. 0.75 mm?
P/N 247

400005645 EEM-33-73

EEM-33-75

M12x1 XX Ax%7 42, 5-pin,

TYII A=K, AT TFy Mt
L, IP67, > —)b K],

CAN bus, [EI#R&[E E#t

90° RI 3 ViARERTRE

TS 0E Metal, -40 ... +85° C
JAY45—YB 6..8 mm, max. 0.75 mm?
P/N 2147

400005646 EEM-33-75



novotechnik

Siedle Group

AR 2V AT I
M12

CANopen
RSX-7900
CANopen

N EEM-33-45

& M12x1 % i
10 Buchseneinsatz M12 X ﬁﬂ& /13 Z‘Z&r 5-pin,
__— SW13mm Female insert M12 A AD— K, IP68,1:13&,
S 13mm *é I = AR -F A -+, CAN-Bus
I = I ifensarz 12 TSIHE PUR,-25..+85° C
= 1x Buchseneinsatz M12 P/N BAT
D~ 5 Tx male insert M12
= — Ix female insert M12 400056145 EEM-33-45
ofF) 1z
| =
129 B
. 404
é |[|CAN
1pes | (@ (o

3 4 I=nc EEM-33-47
oo 2ne M12x1 SRIBIIA, 5-pin, AT— K,
OO o 4; " Widerstand / IP67, 3847 : 120 Q , CAN-Bus
) f 5- _Jresistance FSUME  PUR-25..+85° C
5 1200 N e
400056147 EEM-33-47

IP67

Very good Electromagnetic suited | cati )
IP67 |protection class P67 DNENGosza | ((6) | Compatioily EMC) and shietd Lited for applications in CAN | CAN-Bus
A systems dragchains o
) Very good resistance to ails,
|P68 |Frotection class IPE8 DIN EN 60529 coolants and lubricants UL |UL - approved

7T—2Y— MGTHEINTOSMHRIE. BHRREHOFZENE LTVEY., FERICH KBS, BRNGEES JURERMHICEDVTEY . REORSOEARRICE > TABIcED SN
HYVEY, MORBBLMELSDOE THHORRBEEAT 255, BFOEE - \TA—2— (BT BHRICOGOZFAEELNS ) ETDT. BAEIRY AT LLEOFTEEY 2/\7+ -V ANZ
A—REHRTZHVENHNEYT. HAEDIREFEC(EEINZHBEHHVET.

BEEHSEEE

WeE— -7 R TFZR

T355-0311

BEEAENN I ETEE2452-5

TEL : 0493-71-5160

FAX : 0493-81-4771

E-mail : NovotechnikJP@b-plus-kk.jp
WE— -7 TSI/ RT IV Z7HDBRITH T BERREETT, D618702B j 2020.06.29



